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QUESTION 1

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

This information was gathered during the Assessment Phase: 

Customer currently has a single 10 host vSphere cluster. 

Customer wants to improve network security and automation. 

Current cluster utilization and business policies prevent changing the existing vSphere deployment. 

High-availability is important to the customer. 

Which three selections should the architect include in their design? (Choose three.) 

A. Apply vSphere DRS VM-Host anti-affinity rules to the virtual machines of the NSX-T Edge cluster. 

B. Deploy at least two NSX-T Edge virtual machines in the vSphere cluster. 

C. Deploy the NSX Controllers in the management cluster. 

D. Apply vSphere Distributed Resource Scheduler (vSphere DRS) VM-Host anti-affinity rules to NSX Managers. 

E. Remove 2 hosts from the cluster and create a new edge cluster. 

F. Remove vSphere DRS VM-Host affinity rules to the NSX-T Controller VMs. 

Correct Answer: ACE 

 

 

QUESTION 2

An architect is helping an organization with the Logical Design of a Layer 2 bridging solution. 

This information was gathered during the Assessment Phase: 

Workloads are running on ESXi hosts. 

Workloads are running on KVM hosts. 

Workloads on hypervisors should use bridging services. 

VLAN 50 is used for Tier-0 uplink connectivity. 

Which selection should the architect include in their design? (Choose the best answer.) 

A. Create an NSX Edge Bridge Cluster and configure the bridging profile with VLAN 60. 

B. Create an NSX Edge Bridge Cluster and configure the bridging profile with VLAN 50. 

C. Create an ESXi Bridge Cluster and configure the bridging profile with VLAN 50. 
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D. Create an ESXi Bridge Cluster and configure the bridging profile with VLAN 60. 

Correct Answer: B 

 

 

QUESTION 3

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution. 

Which risk is documented by an architect? (Choose the best answer.) 

A. The security team has a firewall communication matrix documented. 

B. The team is not trained for NSX-T but have a very strong experience with vSphere. 

C. Open communication between different application tiers is not allowed. 

D. Aggregate N-S throughput at any given time should be at least 10G. 

Correct Answer: B 

 

QUESTION 4

Which three assessment findings are part of a Conceptual Design? (Choose three.) 

A. risks 

B. host names 

C. justifications 

D. constraints 

E. assumptions 

F. vendor model 

Correct Answer: ACD 

 

QUESTION 5

Which is a family of solutions for data center designs that span compute, storage, networking, and management,
serving as a blueprint for a customer\\'s Software Defined Data Center (SDDC) implementations? (Choose the best
answer.) 

A. VMware SDDC Design 

B. VMware Validated Design 

C. VMware POC Design 

Latest 3V0-42.20 Dumps | 3V0-42.20 VCE Dumps | 3V0-42.20 Exam Questions                                3 / 4

https://www.geekcert.com/3v0-42-20.html
https://www.geekcert.com/3v0-42-20.html
https://www.geekcert.com/3v0-42-20.html


https://www.geekcert.com/3v0-42-20.html
2024 Latest geekcert 3V0-42.20 PDF and VCE dumps Download

D. VMware Cloud Foundation 

Correct Answer: B 
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